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it & forT 317821 / Instructions to the Candidates

The question paper is in the form of test booklet. All candidates will be assessed on identical
questions.

A separate OMR answer sheet is provided to all candidates for answering.

Each objective question is provided with a text and/or figures wherever applicable with multiple
answer choices (A), (B), (C) and (D). Only one among them is correct and most appropriate answer

. shall be selected.

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Blue/Black) for writing on
OMR sheet and marking the most appropriate answer.

All objective type questions carry equal marks of THREE for a correct answer and One third negative
mark will apply for each wrong answer.

Multiple answers for a question will be regarded as a wrong answer.

Although the test stresses on accuracy more than speed, it is important for you to use your time as
effectively as possible.

Do not waste time on questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

Question booklets have been marked with A or B or C or D or E on the right side top corner, which is
mandatory to be written on the OMR sheet in the box and bubble appropriately, failing which, the
answer sheet will not be evaluated.

Space available in the booklet could be used for rough work, if required. No separate sheet will be
provided.

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance
sheet. Candidates should sign against their names only.

At the end of the test (1) Written Test Call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet should be handed over to the invigilator and shall not be carried by the
candidate under any circumstances. )
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01.

02.

03.

04.

05.

99 9f3T F18/Question Booklet Code A

Rafdiest e BTt o1 e fafdiest iar 1) SEaTay 1 SeuTeet o el &, Freafata &

T RIT-AT AT o Tehi &1 HATSTT Ta.0H.0H. H EIATS [T ST §72/ Various alloying
elements are added to produce different alloy steels, which one of the following
combination of alloy elements is used in HSS? '

A.  wfAIHA, e 3R Afassaa/Chromium, Nickel and molybdenum
B. foi&e, Alfersssi# 31k Rferpra/Nickel, Molybdenum and Silicon

C. HIfAgA, dafgaH 3R Aeira/Chromium, Vanadium and Manganese
D. If&gA, d9f3a# 3R aeest/Chromium, Vanadium and Tungsten

IE T FelAThR TaYT T 7T U 50/.3. AT F FoIRT €U 2% 7 HIa¥T IR
A o foIT 3HTaRT &, 3R HI T T o6 T afr 33 #ey / feie §, & & & gofer oy

fAsic §2/ It is required to finish grind a dia 50mm hardened steel shaft on a cylindrical

grinding machine, if the recommended surface speed of the work is 33 metre/min, then
r.p.m of the work is?

A 190
B. 150
C. 210
D. 250

PleT-H OTI cHaeT F7 GEAAT ek 9T 11 U &7 acel AT & acer a1fey h Feafen

H S¢ell ST 82 /Which gear arrangement used to change the circular motion of horizontal
to vertical without change in speed ratio?

A.  ar¥R FRR/Two spur gear

B. ardsfere fra/Two helical gear

C. arsaa frR/Two bevel gear

D. @ 3R @ FRR/Worm and worm gear

3FegaTSteT Y F=Tarell fohgeh |TT &1 &l §2/Indexing head mechanism works with?

Y& 3R AfAI=1/Rack and pinion

g# 3R g7 ff=R/Worm and worm gear
ar ssfertt BRR/Two helical gear

ar sde TR/ Two bevel gear

oo w»

%ﬂmﬁaﬁﬂ-mgﬂswﬂmmwdl %‘,a’r%@mm%ﬁaﬂ@raﬁﬂﬁm

£?/Which one of the bushes used in a drill jig permits tools of different diameters?

A. 99 fthe §21/ Press fit bushes

B. el 197 g (Rera)/Removable bushes (slip)
C. TR el I19g 921/ Fixed removable bushes
D. g =1/ Liner bushes
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06.

07.

08.

09.

10.

U fIRT Tk A 36 & 3R 3 LAY Alsye 8d &, 36! [ a1d § /A gear wheel bas 36

teeth and 3mm module, its pitch diameter is

A 12fFHAT/12 mm
B. 75M@.#1./75 mm
C. 80fH.#./80mm
D. 108T.#./108 mm

Teh T foraer et fawrelet =2 8, 39 7T g ol Sl &, el & & wl-ar 3nR

o1 & 1 giad sdr /A hole whose lower deviation is zero is called basic hole, which
one of the following letters indicates basic hole

Cowx»
Tomm

Fclel TR & 1T aRT SR go6 9 GIAwT & SROT &1 &gl STl § /The pattern on the work

surface caused by the movement of the cutting tools is called?

3fHerd/Waviness
gicme/Roughness

ges Hegfa/Surface Texture
ade g&d/Lay

oo w>

0T FLT 7 g wferse Aarael 1 SEAATe dn*{;ri A ST Tk T a1l A Torar g iR el &
ST Tgieh Slledr §1 e Tgieh 3R uferstar 1ok o &1l T 37euTel &1 §2/By using quick

return mechanism in shaping machine the cutting stroke moves slow and return stroke fast.
What is the ratio between cutting stroke and return stroke?

2:3

A.

B. 3:2
C. 53
D. 35

Tk 3icifeiq 0T YUl shael fe=ATaf@d 3requel & v 3ugerd §2/A point to point

control system is suitable only for one of the following applications?

A. TAT SIwge /Milling profile
B. ad«/Turning

C. s&E/Drilling

D.  319g¥or/Grinding
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1. gfadus fra & forw foRar ST §2/Counter boring is done for?

A
B.
C.
D

3GIA-HYATT T oh TehaTRT & Torw/Deburring hole ends

&g &r qﬁ'?j)?s’ 3R T 96T+ & foIT /Enlarging holes to accurate size
&% & aRsaheor & fIT /Finishing holes

Arore oY U & AT & TIT /Accommodating socket head screws

12, #1337k SuTeret 3 ao7 3R a9 sk <ATeleT T EAATS et T HTT 32T /A main

purpose of using worm and worm wheel drives in machines and their accessories is to?

A.
B.

S T JTEUT HA1Rd & /Transmit large torque

a1 A% I 37 Tk F I F 3178 HHT HIAT /Provide large speed reduction from worm

shaft to worm wheel
3= J1fd &l FATRT HIAT /Transmit higher speeds

o I ¥ ge1 A% H 1T 7 3178 FHeT AT /Provide large speed reduction from worm

wheel to worm shaft

13, 9TE 81 1 Sirer & TIT 8T aerr 1eT &l SEAAT [T SATAT &1 37eleT 'GO' 3R 'NOGO' waTdY
37a¥q fem e &1 ReAiaf@d # @ Sia-ar 9= @ ged B 38 ger AT ¥ ST A fpar
SiTAT?/Thread ring gauges are used to check external threads. Seperate ‘GO’ and ‘NOGO’

gauging members are provided. Which one of the following screw thread elements is not
checked with this ring gauges?

o w>

f=r/Pitch
FefolT HIoT/Helix angle

IS al/Profile

= =a1d/Pitch diameter

14, UIMATATH Seae # 3iolar & v sia-ar fidees seaater fham ST €2 /What coolant is

used for drilling the aluminium jobs?

oo w >

@felst del/Mineral oil

I ITHA/Kerosene
geraTelle det/Soluble oil
[k arg/Dry air
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15.

16.

14

18.

19.

fAFfaf@d 7 & la-ar Her S F81 §2/Which one of the following is not a fundamental

unit?

oo w >

ard/Pressure

siars/Length
gcgAd/Mass
JAT/Time

Rafed S # colel T R T gay W ! § 3R Rafed &1 1S 1 &gl Srar 8/In a riveted

joint the edges of plates are simply laid over each other and riveted. The joint is called

A

B.
C.
D

TF SiiE/Butt joint
gerd Siig/Lap joint
&3 Sirs/Edge joint
I Sits/Corner joint

SR Ueh AT §/Gun metal is an alloy of

oo w»

arsr 3R ST /Copper and Zinc

&1 3R SFar /Tin and Zinc

arer, feer 3R SFar /Copper, Tin and Zinc
e, fea 31k s&ar /Lead, Tin and Zinc

Hereirater fATolsY e 7 fave Yehr 1 81 & /Which type of thread is oxygen cylinder

regulator

A.  THA/Acme

B. gm#Tadi/Left Hand
C. &fd®/Double Start
D. aIfg=ar/Right Hand

37ellg TR T 32TgR0T & /Example of non-ferrous alloy is

oo w»

TR A / Aluminium
YIdeT / Brass

f&sT / Tin

SIEAT / Zine

\ - awafrEe @ (frex) 2016 - 3MSH3RHT / Technician ‘B’ (Fitter) 2016 - IPRC




20.

21,

22,

23.

24,

28,

we 9fAHT H15/Question Booklet Code

A

G, FEAT TR STET 1 T e feham SITem &1 $9 &gl SI1aT & /Zinc is coated on Mild Steel. It is

known as

S ow>»

34‘33 /Brittle
gy ardr/P.V.C

31@1?/Sof’mer

SEAER @IgT (Si.3m8)/Galvanised Iron (G.1)

a1 HEATHT T YT 25 & 3R 3eTh 3R 13 §1 3eTeh IUTAel T Tl 91T /The sum of the two
numbers is 25 and their difference is 13. Find their product

TOw»

204
114
315
325

IHA Yieer & HRISRT Ffcael &1 HTdTe 82/ The ratio of ultimate stress to working stress is?

A, FcIREYdT I[OTish /Modulus of elasticity
B. &I I[UTsh /Factor of safety

C. oaT$ # 9RadeT /Change in length

D. ddele #ARX /Tensile load

2X+3Y =5

X+2Y =3

X 3R Y, 9dr 1914/ Find X and Y

cow>

[T | I T |
= AN
< <<=
I mnnu
N —=WN

X X X X

IGIRERD %3@1&[? &YT% ol o7 IdT oT9TTU /Find the area of a semi circle with radius 7m

Oow>»

Sow>

77 m?
154 m?
304 m?

39 & & @IS A61/None of the above

logs8 =2
log,8 =3
logg2 =3
39 3 ¥ 1S w761/None of the above
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26. YT SI§ Ueh HTEIH F g A IoRAT 8, o G & gRacleT i &gl Sirar & /The change in
direction of light when it passes from one medium to another, is called

A. wrad«i/Reflection
B. udhia/Scattering
C. 3mad+/Refraction
D. 3w & & &S wigi/None of the above

27. fAHER & S.1 515 &/ S.1 unit of potential difference is

A. UfFIR/Ampere
B. Sfe/Joule

C. gre/Watt

D. dee/Volt

28.  cIa @ 55 g/Unit of pressure is

A, N/m?
B. N-m
C. N/m
D. m%N

29.  HIYURUT F#F% g/Common salt is

A.  KCI

B. NH.CI
C. NaCl
D. CuSO4

30.  fae=faf@a & & sler @1 3781 8/Which of the following is non-metal

A.  #ART/Mercury

B. @fsga/Sodium

C. 3mW=E/Argon

D. #He=ifRre/Magnesium

31. &R Sl # A §/Car batteries contain

A. grEgiFdlieh 3Fel/Hydrochloric acid
B. &msfes stFa/Nitric acid

C. CReR& 3fFa/Tartaric acid

D. TR 31Fel/Sulphuric acid
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32. usHfcHeT % SIS § /One metric ton equals
A 1016 kgs
B. 1000 kgs
C. 907 kgs
D. 3udad & ¥ &S aigi/None of the above

33. U& AR IT e H Alels @ A & [T sTddATel fhU S=iarel 39T § /Gauge used to

measure the thickness of a wire or a sheet

A. 9IS ST /Profile gauge
B. f3=arasr/Radius gauge
C. dR 3T /Wire gauge

D. [Fe™ 3= /Slip gauge

34.  heg U % g TR &= 8/Point of the centre punch is made at

A. GOOC
B. 45°C
C. QOOC
D. 75°C

35. fAof@d & @ Hia-T7 3UR0I/AT 37 & foIT STdATer #8181 g 1/Which of the following

is not a tool/instrument used for marking.”

o7 gfgehr/Angle plate
V' saiteh/'V block

gss gfgerr/Surface plate
g1l {ah/Dial indicator

Oow>

36.  TawHIST hicrad o1 Ig #ff agr SITalT § /Hermaphrodite caliper is also called as

T 87eT SHTeTX /0dd leg caliper
1edr TR /Outside caliper
Ta’T HTeR /Inside caliper
f&aT ST /Spring caliper

oo w>
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37

38.

30.

40.

41.

G o 3TaRIET hal # Y T sagEAr #Y /Arrange the files in descending order of
roughness

A.  #JEIH FIe, 379, T /Second cut, Bastard, Smooth

B. R, 319, m‘aﬁaw‘rc'lsmooth, Bastard, Second cut

C. 314#, #ALgH Fc, =T /Bastard, Second cut, Smooth

D. 3uded # & &Ig gi/None of the above

Teh CIGTRICIRY Hefeh & e &el Tdehedd: ST 3R 3R e & 3R § difeh Ig Felle & Farw
T F T, U Fgd 6/Some teeth of a hacksaw blade are towards left and some on the right
side alternately so that it may run smoothly in the slot, it is called

oo w>»

ofr /Grade

&= /Pitch

& AfEaT /Teeth setting

T R Hereh/All hard blade

ofed &g 7 3maasT fhas garT fohar SITdar 87 /Sizing of drilled hole is done by

OO0 w2

g [Tap

AHET /Counter sunk
gfaaer /Counter bore
X /IReamer

ArAtafad & & R JoR & STAAT & SdRT 18T [T SATAT § /Which of the following is not

done by using a reamer

oo w >

afed fort 71 g Y FES/Cleaning a hole drilled out
&g # eI /Tapering a hole

&g A sl T FT=A1/Straightening of tilted hole
&g T 3cdfed /Originating a hole

<& dtee, f3a, doR, T 3nfe &1 B @ Sepreret & fow sEdaATe v sieiarer e § /Tool

used for withdrawing broken bolt, drill, reamer, screw etc. out of a hole

A

B.
C.
D

315/Die
eq/Tap

Tes [sargen/Stud extractor
iﬁﬁ%ﬁ iw—s;é’r/Helicoil
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43.

44,

45.

46.

79T 9F¥eT HE/Question Booklet Code A

HISS o GETIT A el &g TAehIelel o ToIT SEAATET fhT STAdTel §2lsT /Hammer used for

drawing nails out of wooden articles

A. cidwele g2ler /Double face hammer
B. felus g2iter/Ball pane hammer

C. u‘-l'J-Lig?fET /Soft hammer

D. Yo g2isr /Claw hammer

TR o 3TTeIehce HAT 3R FeT TR o HaTdl o o1 & Soird 3 sl gl ST & /Algebric

difference between the maximum limit of size and the corresponding basic size is called

A.  #eT fagee /Mean deviation

B. T fdadleT /Lower deviation
£ H@ﬁW/Fundamental deviation
D. 34 fa=reist /Upper deviation

ar ot 3 v @ Ha o ve @ gEl & W waE a1 R & Rfvad B & an

fafase fohw SITeY @Y 8T SITAT § / The relation between the two parts where one is inserted in
to the other with a certain degree of tightness or looseness is known as

A. &< /Allowance

B. #FdicR/Clearance
C. wfgsudnTolerance
D. fherFit

fthe 7 Ga@ 3 e I T BIC GHIT &g & T Uedlcds Fe g /In

fit there is a positive allowance between the largest possible shaft and
the smallest possible hole

A.  "®AU/Transition

B. =gfawturinterference

C. #FFaiR/Clearance

D. 3uded & & #1g =igi/None of the above

Teh HTAT JuTTell 7 T8 H g [Fa 37939 §, T Ao & THR I Scoll & GdRT [dTdesT the

gred foRT ST T @hed 6 /A limit system in which hole is constant member and different fits
are obtained by varying the size of the shaft is called

A. T ITYR YUTTT / Shaft basis system

B. &g 3TUR 9oTTell /Hole basis system

C. 3fdfa= A womell /Interchangeable system
D Wﬁ@ﬁéﬂﬁ/None of the above
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47.

48.

49.

50.

Toh AT PI0T & aT AT & oI 7157 A1 &7 AT I & fov BT SEIATT
TR SATAT & / is used to prepare a flexible joint between two shafts at a
desired angle.

@1 sirs/Cotter joint

T Sig/Key joint

el sirs/Knuckle joint
3ugerc & & #1S wi61/None of the above

OO we>

=T Y & T YR T sSlec &1 5TF alAT FRT o AT ST 8, AfeheT ar

TSI & dFT FHcTT HIIT Y g/ is a sort of bolt without head. Its both ends
are threaded but there is a plane portion also between the two threads

A. &9 U /Cap screw

B. dc Ud/Set screw

C. ¥cs/Stud ;

D. 39ded & & 1S 7Ei/None of the above

T3S 3cUTeeT Ufehar 7 STAATe fhT ST AT S & @S T AT HYRoT 3T Foeug

AT § TUT AR P FERT FAT §, P FgT ST & /A device used in mechanical
production process which locates and clamps the workpiece and guides the tool is called

A. U3 [Fixture

B. 3R Yg /Template
C. 99T /Gauge

D. feruig

TAFATeI T &1 & 0T §  hleT AT Feiehcl I[UTErH 16T &2 MWhich of the following property of

metal is not a mechanical property?

gcarEdl/Elasticity
Hegar/Toughness
Irelehdl/Conductivity
JraTaaeddr/Malleability

o w >

70 ]
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52.

x|

54.

58.

w2 i3 S15/Question Booklet Code A

YT < I[OT T Tcell AR # AT 1 3T o 9= afeera a1 g21s & diset 1 gl ST &

/The property of a metal to be rolled or hammered without breaking or cracking in to thin
sheets is called

A.  d=adr/Ductility

B. @oRdr/Hardness

C. ycarFudi/Elasticity

D. smargasdarMalleability

AT Rad 7 & ShleT-ar ailg 31T 81 & /Which of the following is not a iron ore.

A. #HIacse/Magnetite
B. g&@cse/Hematite
C. aiFarsc/Bauxite

D. foAEEe/Limonite

FHT 3TN & EIRT HoR 3 TeT Urfcaeh Siid ol s AS 3T A2fNetst dATey ST SiehaT &l gl

SITdT & /The process of softening and making machinable a hard and rough metallic job by
means of heat treatment is called

A.  HeIHUT/Hardening

B.  #gaIu/Tempering

C. 3eirelisor/Annealing

D. =RfarsieeNormalising

fAefaf@d & @ sla-ar grefae raest 71§ /Which of the following is not a natural

abrasive

A. gRT/Diamond

B. @m@Rs#A/Carburandum

C. TUHI/Emery

D. VAT 3iFA1SS /Aluminium oxide

Teh oISl WX, 39X 3%e A%e AT fIR AT Yoit o e H1@M o Srer T@eAT AT JUeh et hl Faer

AT § / can engage or disengage connection between two
parts of a shaft or gears or pulleys mounted on them, on one line

A.  TelT/Pulley
B. [RR/Gear
C. ol /Clutch
D. deT/Chain
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56,

87.

58.

89.

60.

Tell & ey & cenTfFeeh fawqT gaRT &1 &1 aifesed TR 7 FTlet s T8 g fafer &l gt sTre
& /Most rapid method of forming metal in to desired shapes by plastic deformation in
between rolls is called

oo >

3m@vr/Drawing
gt1+1/ Piercing
sfgderst/Extrusion
A9/ Rolling

TeTell ATET Sl T o folT SEAATS TohT STl g 3SR & gl ST & /Hand tool used

for cutting thin sheets is called

o w >

fogrseT /Stakes
@i Scriber
99 /Punch
T&TCq/Snipper

ShIoT qfgerr 7 IvT &R &/ What is the angle of the angle plate

oo w »

o

30

o

45

o]

65

o]

90

T&T U FAIGTRICITR Helsh & 1T g/Coarse grade hacksaw blades have

oo w>

14 & 18 & ufd §49/14 to 18 teeth per inch
20 & 24 & 9T 39 /20 to 24 teeth per inch
24 ¥ 30 & 9fd 59 /24 to 30 teeth per inch
30 & 32 &d 9T 39 /30 to 32 teeth per inch

" rATafT A & Sla-a1 v et AT FI BT FET & /Which of the following is not part of

a combination set

oo w»

¥l /Stock

Tier e /Protractor head
a1 ¥ /Square head
g oY /Centre head
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ISRO PROPULSION COMPLEX
Mahendragiri

Written Examination for Selection to the Post of
Technician ‘B’ (Fitter) — Post Code:003
vide Advt. No.IPRC/RMT/2016/01 dated 05.08.2016

ANSWER KEY

Question Booklet Code A

Q.No. | Ans. Key Q. No. Ans. Key - Q.No. | Ans. KeyJ
01 D 21 B 41 C
02 Cc 22 B 42 D
03 C 23 C 43 D
04 B 24 A 44 D
05 B 25 B 45 C
06 D 26 C 46 B
07 D 27 D 47 C
08 C 28 A 48 C
09 B 29 C 49 D
10 Cc 30 C 50 C
11 D 31 D 51 D
12 B 32 B 52 C
13 B 33 C 53 C
14 B 34 Cc 54 D
15 A 38 D 55 C
16 B 36 A 56 D
17 Cc 37 Cc 57 D
18 D 38 Cc 58 D
19 B 39 D 59 A
20 D 40 D 60 A

PS:-  Any objections/queries in the Answer Key may be sent through email to
: career@iprc.gov.in on or before 23.12.2016 (Friday) 15:00 Hrs. If no
objections are received before the stipulated date, the Answer Key will be
deemed legitimate.



